
Eutrophication
Crossword

Down
1. ______ buffers intercept surface runoff.
3. ______ is a type of green infrastructure (2
words, hyphenated).
4. Preventing leaks and overflows of septic
systems reduces ______ seepage into groundwater
and other bodies of water.
6. Runoff can result from inefficient irrigation,
carrying ______ and fertilizers into water bodies.

Across
2. Over extraction of water,
and inefficient ______
exacerbate eutrophication.
5. ______ is the increase in
the concentration of
nutrients.
7. Implementing ______ can
guide the use of pesticides.



Eutrophication
Crossword Answers

Down
1.Riparian
3. Rain-garden
4. Nutrient
6. Pesticides

Across
2. Irrigation
5. Eutrophication
7. Bylaws

If you would like to learn more about water and other fun activities, please
visit waterportal.ca


